 (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
2
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
2
 
) (
1
 
) (
13
 
) (
-
  
) (
21
 
) (
-
  
) (
8
 
) (
4
 
) (
12
 
)LA TABLE DU 2 



1. Entoure la bonne réponse. 


2  ×  7  =    


12 


14 


13 


11 


2  ×  3  =    


8 


6 


4  


2  ×  0  =    


0 


2 


20 


2  ×  6  =    


14 


12 


11 


2  ×  5  =    


16 


14 


12 


10 


2  ×  1  =    


-  


3 


12 



2  ×  11  =    



211 -  22  -  20  -  112    



2  ×  8  =    



10 -  16 -  12 -  20  



2  ×  9  =    



14 



12 



16 



18 



2  ×  4  =    



6 



5 



4  


2  ×  2  =    


22 


2 


12 


2  ×  10  =    


20 


22 


18 



2. Écris ta réponse. 



2  ×  0  =  ……….  



2  ×  1  =  ……….  



2  ×  2  =  ……….  



2  ×  3  =  ……….  



2  ×  4  =  ……….  



2  ×  5  =  ……….  



2  ×  6  =  ……….  



2  ×  8  =  ……….  



2  ×  8  =  ……….  
[bookmark: _GoBack]


2  ×  9  =    ……….     



2  ×  10  =  ……….    



2  ×  11  =  ……….  




3. Écris le nombre manquant. 



2  ×  ..........  =  0     



..........  ×  2  =  0     



2  ×  ..........  =  8  



2  ×  ..........  =  2     



..........  ×  2  =  10    



2  ×  ..........  =  16  



..........  ×  2  =  4     



2  ×  ..........  =  12    



..........  ×  2  =  14  



2  ×  ..........  =  4     



..........  ×  2  =  12    



2  ×  ..........  =  18  



2  ×  ..........  =  22    



..........  ×  2  =  6     



2  ×  ..........  =  14  



..........  ×  2  =  2     



2  ×  ..........  =  20    



..........  ×  2  =  18  



2  ×  ..........  =  10    



..........  ×  2  =  16    



..........  ×  2  =  8  



..........  ×  2  =  20    



2  ×  ..........  =  6     



..........  ×  2  =  22  

 (
-
  
) (
32
 
) (
-
  
) (
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) (
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) (
-
  
) (
15
 
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
3
  
) (
-
  
) (
-
  
) (
-
  
) (
12
 
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
-
  
) (
27
 
) (
-
  
) (
14
 
) (
-
  
) (
3
 
) (
14
 
) (
-
  
) (
-
  
) (
-
  
) (
-
  
)LA TABLE DU 3 



1. Entoure la bonne réponse. 


3  ×  7  =    


21 


28 


10 


2  ×  3  =    


8 


6 


2 


4  


3  ×  0  =    


0 


1 


30 


3  ×  6  =    


14 


-  


13 


18 


3  ×  5  =    


16 


15 


13 


3  ×  1  =    


21 


30 


12 



3  ×  11  =    



311 -  33  -  30  -  113  



3  ×  8  =    



24 -  16 -  12 -  20  



3  ×  9  =    



21 



30 



18 



3  ×  4  =    



10 



-  



12 



18 


3  ×  3  =    


12 


15 


9 


6  


3  ×  10  =    


30 


-  


12 


18 



2. Écris ta réponse. 



3  ×  0  =  ……….  



3  ×  1  =  ……….  



3  ×  2  =  ……….  



3  ×  3  =  ……….  



3  ×  4  =  ……….  



3  ×  5  =  ……….  



3  ×  6  =  ……….  



3  ×  7  =  ……….  



3  ×  8  =  ……….  



3  ×  9  =    ……….     



3  ×  10  =  ……….    



3  ×  11  =  ……….  




3. Écris le nombre manquant. 



3  ×  ..........  =  0     



3  ×  ..........  =  3     



3  ×  ..........  =  27  



3  ×  ..........  =  33    



..........  ×  3  =  9     



3  ×  ..........  =  21  



3  ×  ..........  =  18    



..........  ×  3  =  27    



3  ×  ..........  =  24  



..........  ×  3  =  6     



3  ×  ..........  =  12    



..........  ×  3  =  21  



3  ×  ..........  =  6     



..........  ×  3  =  15    



3  ×  ..........  =  9  



..........  ×  3  =  3     



3  ×  ..........  =  30    



..........  ×  3  =  18  



3  ×  ..........  =  15    



..........  ×  3  =  24    



..........  ×  3  =  12  



..........  ×  3  =  30    



..........  ×  3  =  0     



..........  ×  3  =  33  

  
